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ZB 33/7 
Ergänze zum folgenden Zehner.

	A
	17 +
	______ =
	20
	
	B
	25 +
	______ =
	30

	
	117 +
	______ =
	120
	
	
	125 +
	______ =
	130

	
	317 +
	______ =
	320
	
	
	225 +
	______ =
	230



ZB 33/8 
Ergänze zum folgenden Zehner.

	A
	13 +
	______ =
	______
	
	E
	98 +
	______ =
	______

	
	113 +
	______ =
	________
	
	
	108 +
	______ =
	______

	
	213 +
	______ =
	________
	
	
	498 +
	______ =
	______

	
	613 +
	______ =
	________
	
	
	508 +
	______ =
	______

	
	713 +
	______ =
	________
	
	
	998 +
	______ =
	______




ZB 33/9 
Ergänze zum folgenden Hunderter.

	A
	50 +
	______ =
	100
	
	B
	30 +
	______ =
	100

	
	150 +
	______ =
	200
	
	
	430 +
	______ =
	500

	
	350 +
	______ =
	400
	
	
	930 +
	______ =
	1000




ZB 33/10 
Ergänze zum folgenden Hunderter.

	A
	80 +
	______ =
	______
	
	E
	540 +
	______ =
	______

	
	180 +
	______ =
	________
	
	
	650 +
	______ =
	______

	
	380 +
	______ =
	________
	
	
	760 +
	______ =
	______

	
	580 +
	______ =
	________
	
	
	870 +
	______ =
	______

	
	780 +
	______ =
	________
	
	
	980 +
	______ =
	______




[bookmark: _GoBack]ZB 33/11 
Ergänze auf 1000.

	A
	900 +
	______ =
	1000
	
	B
	950 +
	______ =
	1000

	
	800 +
	______ =
	1000
	
	
	850 +
	______ =
	1000

	
	700 +
	______ =
	1000
	
	
	750 +
	______ =
	1000

	
	600 +
	______ =
	1000
	
	
	650 +
	______ =
	1000

	
	500 +
	______ =
	1000
	
	
	550 +
	______ =
	1000

	
	400 +
	______ =
	1000
	
	
	450 +
	______ =
	1000

	
	300 +
	______ =
	1000
	
	
	350 +
	______ =
	1000



C Zeichne die Schritte auf den Rechenstrich (Beispiel: ZB 33)

879 + _________ = 1000



	
	
	
	

	879 
	1000



975 + _________ = 1000



	
	
	
	

	975
	1000



860 + _________ = 1000



	
	
	
	

	860
	1000



685 + _________ = 1000



	
	
	
	

	685
	1000



